sin?x
’ -

sin®x
sinx
cos4x

COsS X

tan x
¢se x

cot X

sin?x

tan?x

-+

sin(x ty)

cos(x ty)

tan(x t y)

FUNDAMENTAL

+

]

]

cos?x = 1
1 - cos?x
+ Vl - cos2x

1 - sin2x

+ V1 - sin?x

7

sin x

cos x * cot x

1
sinx’

sSec X

tan x

fl
-

cos?x

cot?x csc2x

sec?x

=
I

ADDITION

sinxcosy *cosxsiny

cosxcosy +sinxsiny

tanx +tany
l1¥tanxtany

sin x

1
cos X

=

CosS X

DOUBLE ARC
sin 2x = 2s8in x cos X
cos 2x = cos?x - sin?x
= 2cos8?x - 1
= 1 ~ 2s8in%x
_ 2 tan x
tan 2x T~ tan?x
HALF ARC
sin2x = L= gos 2x
sinx = t\/l = c2:os 2x
coslx = 1 + cos 2x
2
CoOX X = i~\/1 + cgs 2X
sin 2x
tanx = 9=77008 ox
tan x = 1.—_COS 2x

s1n 2%

sin x

cCos X

sin x

cos X

sin x

sin x

COSs X

COS X

PRODUCT

3[cos(x -y)-cos(x+y)

siny =

cosy = #[cos(x+y)+cos(x=-y)
cosy = ¥[sin(x+y)+sin(x-y)
siny = #[sin(x+y)~-sin(x-y)

SUM

+siny = 2 sin ﬁ%%£)cosF£§44

-siny = 2 cos(ﬁigl)s n(ﬁéix)

tcosy = 2 cos(ﬁi%i)cos(ﬁéii)

-Ccosy = —2sin(§ﬁ%1)sin(§j%iq

REDUCTION OF Acos6 + Bsin®

For the diagram below, a

A

(A,B) B

For all values of 8,

Acosfb + Bsin® =

[}

ft

acos(b - o)

A2 + B
a cos ¢

asin¢



